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Geography
Paper II

T

gyatent 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains 50 multiple choice questions, each carrying
Two (2) marks. Attempt All questions.

oA ¢ A1 YUY THY 50 SgaAtd U o STgd Wdeh YATE g9 (2) T ST

wd Yy gred.

Kamet peak lies closer to which of
the following glacier ?

(A) Gangotri
(B) Pindari
(C) Siachin
(D) Rimo

Which of the following statement is
not correct ?

(A) The Himalayan ranges act as
a barrier to the cold winds

blowing down from Central
Asia

(B) Himalayan ranges acted as a
barrier to the free movement of
people in the past

(C) The Himalayan ranges are a
large storehouse of marine
fossils

(D) The Himalayan ranges were
formed during Hercynian
Orogeny

HHd TR @reiierieh! shivrean feae =
ESICOC: K

(A) TIsH

(B) fuerdt

(C) faari

(D) T

GTATAdsh] g faems se) A ?

(A) femTer@m=an M AL SMfeTETgA

(B) YehTeeld feATeTaT=al IFT Sehi<

TR TR S Il Bl
(C) Terreraren Tm A STeRo= 1S
qeR TTed
D) femraa wm=n fAfddt s ==

ARSI STt
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Tamil Nadu receives much of its

rainfall through the .................. .
(A) South-West Monsoon

(B) Western Disturbances

(C) North-East Monsoon

(D) Tropical Cyclones

Consider the following statements :

(@) Inundation canals are taken
out from rivers without building

any kind of weir

(b) Irrigation by this kind of canals
is more than canal drawn from

irrigation dams.

Which of the above statement(s)

is/are correct ?

(A) Only (a)

(B) Only (b)

(C) Both (a) and (b)

(D) Neither (a) nor (b)

MAY - 36216/II—D

qHAed Iad TS+

o T,
(A) THA T
(B) ufyedt fasfia

(C) 3= A
(D) SSUThieaea e

et faurr=n foamr =0

(@) JTET8H hTcd Il hITTCATE]

TRl SN ATEeRTed TEaRT

I HIedd  STHATT

(b) 3ITIM YHNRAT HTAATGR  BITIR

SAfg=T  ITUIT=AT HTAHT T &

ek o1Ed
AR HIo faeam aler oMy ?
(A) ™ (a)
(B) % (b)
(©) (@) 9 (b) =

(D) (a) fRa1 (b) YT HIv= AT




Sequentially, in terms of cotton

cultivation top three states are ........ .

(A) Gujrat — Maharashtra —
Andhra Pradesh

(B) Andhra Pradesh — Gujrat —
Maharashtra

(C) Maharashtra — Andhra
Pradesh — Gujrat

(D) Maharashtra — Gujrat —
Andhra Pradesh

Population density map uses

................. type of data.
(A) Nominal

(B) Hierarchical

(C) Differentiated

(D) Ratio

If the universe has heterogenous
composition, a ........cccceeuneeee. sampling

is preferred.

(A) Systematic linear
(B) Stratified random
(C) Systematic block

(D) Random grid

MAY - 36216/II—D
HYH ANES! HHld i SOl Toure
TR TET TR

(A) ToRA— TR — 3Ty Ja9T

(B) 39 We¥—ToNId— HERTSS

(C) FRRTZ—3TY Ye3— TSR

(D) TERSE—TSRA—3Y Yo¥l

GIEXEC IR E CIME CARIESIE

YR T ST
(A) THETiH

(B) Zvfigeis

(C) afed

(D) TEIRR

TS @A SR g 3fd @

T v
(A) HHEAS T

(B) & Agfes

(C) HHIg T

(D) g e

[P.T.O.



10.

Basic aim of a thematic map

1S e, .

(A) To show distribution of

variable(s)

(B) To analyse the spatial pattern

that emerge

(®))

To show numeric information

in visual form

(D) To show what exists and where

it exists

Which of the following is not a

measure of dispersion ?
(A) Quartile deviation
(B) Variance

(C) Standard deviation
(D) Standard score

The spatial resolution of LISS 1

SENSEr WAaS .eeevveeennennne. .
(A) 165 m
(B) 30 m

(C) 7256 m

D) 5 m

10.

MAY - 36216/I1—D
ETeTeTdeh! hIUd SeIATCHS TR
e g F8d ?

(A) TEmEl "o faawor ggifean

(B) frafur o esita enfasem
fogersor o

(C) wifegst wifed gva @&

Tgifey

D) & AR 9 d Hid AR
Tiferay

ETeATeTdeh! hIUMd ISR oy

T ?

(A) =ge® fo=em
(B) g=R"

(C) wwifur fererer

(D) YA Hed
LISS 1 1 Hagaht™ &g fadea

(A) 165
(B) 30
(C) 72.5

D) 5




11.

12.

A pair of Geomorphologist that

contributed to the concept of base

level of erosion is :

(A) A. Penk and W.M. Davis

(B) G.K. Gilbert and G.E. Dutton

(C) Lyell and Ramsey

(D) Powell and Greenwood

Which of the following is not a form

of chemical weathering ?

(A) Chelation

(B) Oxidation

(C) Carbonation

(D) Corrosion

11.

12.

MAY - 36216/II—D

TEURTEA=AT 1 SIS STIeom=
SMYRYA dides! Heheudl Higa! d
N

(A) T U=k 701 Soc.UH. S=H
(B) Si.&. Telee 9 Si.3. §A

(C) wrFe afor Ty

(D) dlad 7o WHaE

T Tedeh! hIvl THEME  fagromn
YHER & ?

(A) et

(B) EHIeRTT

(ORcacicau

(D) =hRSH
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13.

14.

15.

Transverse faults along the plate

boundaries indicate .................... .

(A) subsidence of both the plates
(B) subsidence of the higher plate
(C) absense of vertical displacement

(D) uplift of both the plates along

plate boundaries

Identify the pair of landforms

produced by the glacial deposition :
(A) Cirques and Aretes

(B) Mattern Horn and Roche

Montane
(C) Eskers and Kames
(D) Sawtooth Ridges and Tarn

Which of the following is not a result

of endogenic forces ?
(A) Graben

(B) Horst

(C) Residual Mountain

(D) Rift Valley

13.

14.

15.

MAY - 36216/II—D

v

U= HIHaId STIIEY (transverse)

[a [a) ha N Y

(D) HHedd <=l

PACCICESOIE|

e = Haad ST IR BIv=

e Sl Sfesen :
(A) e anftn uReRFS
(B) TRIigF suftr deften
(C) T ST %

(D) HEd Tt SR A0 gefarndie
TR

WTATAUh] IO STald =] Iioms
A& ?

(A) Fem

(B) =&

(C) srafyme wed
(D) Tr=ed




16.

17.

18.

In which of the following types of
precipitation the size of drop is less

than 0.5 millimeter ?
(A) Rain

(B) Drizzle

(C) Hail

(D) Snow

Mid latitudinal cyclones develop in

conjunction with the .................. .
(A) Polar Front

(B) Meritime Front

(C) Tropical Front

(D) Equatorial Front

Climate, where evaporation exceeds
precipitation and there is constant
water deficiency is designated by
Koppen as ......cccceeeeeeeeeeenns types of

climate.
A) C
(B) A
C) B

(D) D

16.

17.

18.
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TeTAdeh! Il I YhRId S

=E 0.5 THeiHietaan e & d ?
(A) TSt=

(B) R

(C) T

(D) fem

e eI ST g 3
SIS

(A) gaa STemet
(B) 9rTl emet
(C) SRS STETST

(D) faeexia Sere]

3T TAMHM 1 S ST Feerqel S
A O Fad v ShHAd SIToTed
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19.

20.

The rate at which temperature of a

rising and expanding air parcel

decreases is called the .................. .

(A) Environmental Lapse Rate

(B) Adiabatic Lapse Rate

(C) Normal Lapse Rate

(D) Katabatic Lapse Rate

Reflection of a substance, expressed

as percentage of incident radiation

reflected is :

(A) Advection

(B) Aerovane

(C) Albedo

(D) Azores

MAY - 36216/II—D

19. X SO ST FEROT o= Sgys

(Air parcel) 3 TTIHEM A1 T HHT BId

(A) TIEROT AbeR

(B) 3Tdfer (3TSTuddieh) adel

(C) UL wdeX

(D) i Amel

20. TSI BIVI=AT SATATAT FILOME

qEdATE] 2aharl WU

.

(A) ITSHRM

(B) 3reeH

(C) sl

(D) 3TH

10



21.

22.

In terms of geographical extent

the ocean deposits which has the

largest coverage is

.............................

deposits.

(A) Calcareous

(B) Globigerina

(C) Redclay

(D) Radiolarian

Which one of the following seas does

not have land boundaries ?

(A) Red Sea

(B) Adriatic Sea

(C) Sargasso Sea

(D) Aegean Sea

21.

22.
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Jrifersr faeamar gatq faga =)

(C) TEA

(D) AeqiRsm™

TITATAURT HIAT ST AT
R ?
(A) dierel S

e

(B) Afgariess 993

(C) Wt w3

(D) A 995
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24.

of the wave is

........................

determined by dividing the length

of a wave by the period.

(A) Velocity

(B) Frequency

(C) Fetch

(D) Amplitude

Lists of local winds (List I) and their
associated regions (List II) are given.
Match the List I with List II and

select the correct answer from the

codes given below :

List 1 List 11
(@) Chinook (1) Spain
(b) Mistral (2) Russia

(¢c) Solano (3) North America
(d) Burran (4) South France
Codes :
(@ & © @
a & @ GO @
3 & @ @O @
e @ O @ @
™ @ 6 @ @

24.

MAY - 36216/II—D

(A) a7
(B) IRardr
(C) Trafoear

(D) T WH

i aR (List 1) 9 ®r=mft frreha
¥ (List II) feoted ofgd. List I
List I A= Siree S[esqd Teid feeredl

HehdlehIqd g e feren .

List I List II
(@) T3 (1) &F
(b) faega (2) R
(c) HreTmI (3) W TR
(d) I (4) e W
Wichdich :

(@ B (@ (@

Aa 6 @ @GO @
B & @ @O @
e @ @O @ O
® @ & @ @

12



25. Assertion (A) :

A great proportion of the residual
wilderness of India is now under

great threat.
Reason (R) :

Intensive forms of agricultural and
industrial growth lead to shrinking

of biodiversity.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) true but (R)
is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 36216/II—D

25. WiaueT (A) :

WA Saild a=aifershdl (wilderness)

TEATSN e 3T

Ul (R) :

gend FgwER 9 Ataifrs gt

SifoRfafasan SR TEvaTE HRUTYd

[a o

feaiedl Heahdlsgd ara 3w

- -
-
-

(A) T (A) 9 (R) S&X 3TRd 3ifur
(R) ® (A) ¥ Irg TR0 378

(B) Tt (A) 9 (R) SR ATgad °UI
R) T (A) 3 ITT TIH0 AR

(C) (A) & SN 3, 997 (R) § IF
Sl

D) (A) T I &%, 997 (R) T s
3T

13

[P.T.O.



26. Match the List I and List IT and

27.

select the correct answer from the

codes given below :

List I List II

(@) Alexander von (1) Anthropo Geography
Humboldt
(b)

Carl Ritter (2) Geographic Humane

(¢) Friedrich (3) Cosmos

Ratzel
(d) Jean Brunches (4) Europe
Codes

(@ &) © @

@ & @ @ @
B & @ @O @
e @ @O @ &
M O & @ @
Hartshorne’s several articles

and finally the book — “Perspective
on the Nature of Geography”
was written in reaction to the work
Oof o, .

(A) Ackerman
(B) Haggett
(C) Sauer
(D) Schaefer

MAY - 36216/II—D

26. AT I o T I1 3= Sl Sesddrl

27.

Trelt fiean Hehdihmyd Ard U
IREEINE

Tt 1 e 10
(@) RIS A (1) HEGEY

Tl
() = R&R (2) HEE o
() el g (3) HIwHMg
d) S g (4) ™
Hichdleh :

@ & (© @

Aa & @ @ @
B B @ @O ©@
<c @ O @ 6
® O & @ @

BRI oe W@ 9 idd: &
Y e e g gEiE ®

T T TR
(A) 3hTHA
(B) &

(C) ErX

(D) ¥HL

14



28.

29.

30.

The 1960’s approach of geography
as spatial science was identified

with language and method of :
(A) Ecosystem

(B) Environment

(C) Geometry

(D) Landscape

Who among the following remarked :
“We must ask the earth herself for

her laws.”

(A) Humboldt
(B) Ritter

(C) Ratzel

(D) W.M. Davis

In 1970s the school

.......................

approach emerged as a strong
critique of spatial organisation

paradigm in Human Geography.
(A) Regional

(B) Welfare

(C) Areal Differentiation

(D) Locational

28.

29.

30.

MAY - 36216/II—D
1960 HEd ATULTT o st symretr=n

JME 3MesElell Sd Il
(A) TftEEen
(B) TAfawo

(C) Y

(D) Y5¥F
frafafeaitst wivh qda fewoh
Hell ? AU gedtara faen s

el g1 hell Ui
(A) el

(B) f=x

(C) Tega

(D) =Y. wH. few

o AFe sFitedtal sTfaasa geed
wqAT WG HHIET RUH Sed™
AT

(A) wrRfe®

(B) oAU
(C) &sfta faded
(D) T

15
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31.

32.

Which of the wurban form

models focuses on transportation

arterials ?

(A) Sector model

(B) Concentric model

(C) Peripheral model

(D) Multiple nuclei model

Global population witnessed

accelerated increase approximately

200 years back due to

(A) Green Revolution

(B) Agricultural Revolution

(C) Industrial Revolution

(D) Medical Revolution

31.

32.
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AR NG hisd A THRR A&

oA ?

(A) T=arEe urey

(B) T WEY

(C) 9Re= ey

(D) Sghad W&

GHR 200 TGS, ST AREEAT ST

oGl ST hRUl

(A) BRa st

(B) FE i

(C) 3Trenfier whidl

(D) J=hiA it
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33.

According to Central Place theory

of settlements, hierarchy is

conceived as a systematic

arrangement of the settlements on

the basis of .................. .
(A) Functional interlinkages
(B) Size of the service areas

(C) Size of threshold population,
range of the function and

nodality

(D) Flow of goods, services and

33.

MAY - 36216/II—D

T AR hald & fHgargar

(A) FETHSHGS TR SSol

(B) 991 &5 SAREM

(C) YT dhaedd THIAM,

HEE BT T Tehehigadl

(D) 9%, ¥a1 9 HAfedt A= 3™

information
34. A Suburb iS , 34. W W ..............................
(A) an outer commutating zone of (A) TERH RIS 96 feerufardt
an urban area e
(B) associated with social . . .
(B) HIfSTeh TR Heiferd of shesme
homogeneity and a life style
. . T SiradG
suited to family needs
(C) the spread and growth of cities (C) ¥yl fawm = are
(D) both (A) and (B) (D) <& (A) 9 (B)
17 [P.T.O.



35.

36.

37.

Find out the correct descending
sequence of continents on the basis

of crude birth rate :

(A) Africa, Asia, Latin America,

Europe

(B) Africa, Latin America, Asia,

Europe

(C) Latin America, Africa, Asia,

Europe

(D) Europe, Latin America, Africa,

Asia
The Brazilian plateau is rich in :
(A) Petroleum
(B) Iron ore
(C) Nickel
(D) Copper

The model of agricultural location
given by Von Thunen is based on
....................... technique.
(A) Normative

(B) Empirical

(C) Multi-element

(D) Single element

35.

36.

37.
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TSI Aeed STHGUIHR AN Il A

Sesel

(A) efiftRert, emfern, <ifed smfen,
G

(B) oATfment, wifed ot@fenT, ofmfymn,
G

(C) wfeq emaftep, snfwenr, smfmm,

Y
(D) IUu, wfeqd sAnfewr, sufirer,

[ A A Ao HITEIE e
.............................. .at-srl—or{ 3:”%'”—{'@‘@
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38.

39.

40.

A topological graph of the transport

network neither related to

................

nor direction.
(A) Index
(B) Scale
(C) Flow
(D) Axis

Which of the following is not a foot

loosing industry ?

(A) Iron and steel industry
(B) Sugar industry

(C) Cotton textile industry
(D) Rice milling industry

Two malls X and Y having equal
market attraction are equidistant in
kilometers but reachable in 15 and
25 minutes on feet, respectively.
Suresh’s decision to visit mall X
would therefore illustrate the

principle of ...........ceveeeeen. .
(A) Distance decay

(B) Profit maximization
(C) Economic rationality

(D) Clientele loyalty

38.

39.

40.
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aTEqeh Saial difeerfas oere

(A) =i

(B) 9H
(C) ware

(D) &

TCAdeh! IO TGS ST @ ?
(A) % d deR e

(B) ®ER &M

(C) gt wHe M

(D) Lol S

ISRAST FHE SRS SHIR X

Y TS Al fhciHie el THM STaer

3Med, Wq IRl A STwH 15 9
25 THfAE rTarE. gleren X Hiden 9

.

(A) STaR&T

(B) TR HEqHIHI

(C) 3mfefer foaententon

(D) U8 TehlTs3dl

19
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41.

42.

Overpopulation is equated with :

(A) the first stage of the
demographic cycle with high

fertility rates

(B) areas of high birth rates

(C) areas of imbalanced fertility

rates and dependency ratios

(D) with a continuing imbalance
between the numbers of people

and carrying capacity of the

land

Mac Mahon line, which was decided
between the British and the
Tibeteans as the boundary between

India and Tibet passes through :
(A) Purvanchal Himalayas

(B) Nepal and Sikkim Himalayas
(C) Kumaun Himalayas

(D) Kashmir Himalayas

41.

42.

MAY - 36216/II—D

YR AThEET U

(A) ThEET TRl Ufecar 3T

FHH SIEL Tt

(B) S=d ST &

(C) STHqfad S1eX o Taafadl X

e

oo A

(D) TR T 9 ST SRoTerHal

I Fafia stEge

(A) qataa ferem

(B) Ut oo foeer\ feume™

(C) R e

(D) wIYR feHe™
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43. Which of the following is not an | 43. W@Icliciueh! IVl Hikahiash JgvITET T9hH
indicator of the cultural landscape ? e ?
(A) Housetype (A) Y YR
(B) Kinship (B) -adey
(C) Size of Settlements (C) o9Ede 3R
(D) Transport (D) drEgHR
44. Genetic classification of boundaries | 44 fymi sy aeffargoy I
was proposed by .........ccc........ . TR S
(A) Ritter (A) T
(B) Hettner (B) BoT
(C) Hartshorne ©) T
(D) Ratzel "
(D) =
45. The Khasis of Meghalaya Plateau . . . N
45. HYTTI YSRMEA dlsh CTHl Jledd
speak a language that is classified
, JTATAT TOE TR0 T TeTdeh
under :
5 Id ?
(A) Mon-Khner group of language LK
(B) Indo-Aryan Family of (A) WEA-TA I e
languages (B) 3S-aTE o w
(C) Dravidian Family of languages .
(C) ZfoSd A FHed
(D) Sino-Tibetan Family of
1 (D) TEi-faedaa e e
anguages
21 [P.T.O.



46.

47.

48.

Who among the following gave
spatial perspective to growth pole

theory ?

(A) Francis Perroux
(B) Walter Isard
(C) M.N. Pal

(D) Boudeville

An area delineated on the basis
of general similarity of land
characteristics and occupancy is

called as :

(A) Space

(B) Landscape
(C) Region
(D) Area

The

administrative states, districts and

division of India 1into

blocks etcetra for development

planning is called ................... .
(A) Sectoral development

(B) Multilevel planning

(C) Micro-level planning

(D) Area planning

46.

47.

48.

MAY - 36216/II—D

g5 ga fagram sifvesia emam
wrefteist ot fgar ?

(A) w9 YU

(B) dfeet T3

(C) TR.TA. [

(D) S&efed

e gfy dfersear=n |

oI e fAfv=a e a9y

(A) SR
(B) 54
(C) W
(D) &

gRare fae fasHEeT g

T, fSeR 9 e SRl 48 Soledl

(A) faurig faw™

N

NN

(B) wigqIdest
(C) g&w uasl s
) I ERERISE
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49. The regional disparities can be 49. gy fovmar se=RE wH A%
narrowed down over a time
W a%.[ ................................

when ............... .

(A) it is ensured that the rate of (&) HFTISIET (=T S RIS
development of the backward U= ToenTd ST S ST eT=
areas is greater than the rate NJE XS
of development of other areas

(B) sifa fasrdia wma wiem= fiesd

(B) Preference is given to most
developed areas (C) ¥ TeIMH UM YR S0’ 1

(C) Emphasized for equal el
weightage to all regions

(D) TUsTrecedn YoM STeMT=n

(D) Allocation of less grants to

: arer e
lagging areas
R IR > TIMEST ATIITH
50. The minimum sales volume needed Bl; FER <
Ao fRam fasm=n eerEEE
to support a business is called :
............................ a:lﬁ w.
(A) Range
8 (A) hem

(B) Core (B) T

(C) Threshold ©) 3:[%;[:@1:“

(D) Optimum business benefit (D) 9o AEdfEess oy
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